(PFAFE)

Spare Parts Catalogue
Subcl. =431

Trimming Mechanism
for Pfaff 461; 463;469

PFAFF INDUSTRIEMASCHINEN GMBH KAISERSLAUTERN

No. 296-12-12 441 HD 470 engl. _ . .
From the Iﬁarary of: Superior Sewing Machine & Supply LLC

Printed in Germany



=431

11-108 177-15

91-069 472-91

11-174 08615
91-069 47391

/A7 _91-169 30112
W
A 11-530 22015

91-169 477-91 14215 013-01
11-108 237-15 11-108 231-15 91-069 518-45

1 208-0
3033 206-05 g

@-11-108 23115

|

91-169 475-15— -
91-169 474-05
11-108 231-15
12-024 19115

11-345 90715
%

91-069 493-11
91-001 82405 ,‘ .{_ 11-108 174=15

12-640 090-55
91-106 033-15
12-640 170-55-2

11-108 177=15
91-169 393-12 1 1
-01-069 48304 iR . 2169 o7 5 e

11=108 174=15-£

O A
11=31h 220-15 ==A =

11-314 220—15—%

I

12-610 200-45

91-069 48404 11-314 220-15 5-11-130 17615

91-069 51315

91-069 498-11 12-024 191-15
' 11-108 225-15
= 91-069 78805
- L 11174 176=15 “ I
91-069 489-12—= & 91-107 26505 L }‘—9‘!—069 632-05
91-069 789-15 Y- ;
91—06 790-05 b
11-108 096-15 91-069 51405 91-700 336~15-2d|
1=701 3911533
91=101 SN-15-2J 91-069 628-91
! 91-069 620-12 91-069 598-11
| ————— 91-169 252-4 e
Il 11-108 222-15 9_,# .IE i & 91-069 599-15

11-108 171-15 91-069 601-15
& b 11-108 135-15 ?

91-701 51115
1-069 600~15 11-108 135-1
11-174 176=15  91-169 254=05"" 191-170 6590-119 ’ v

91-069 630-91_4i T 91069 63845 Llf.f

From the library of: Superior Sewing Machine & Supply LLC




Subcl. =431

Trimming Mechanism for Pfaff 461

11-108 096~15
11-108 135~15
11-108 171-15
11-108 174-15
11-108 177-15
11-108 222-15
11-108 225-15

11-108 231-15

11-108 237-15
11-130 176-15
11-174 086-15
11-174 17615
11178 172-15

11-314 220-15

11-330 220-15
11-345 907-15
12-02% 191-15
12-610 200-45
12-640 090-55
12-640 170-55
12-640 200-55
13-033 208-05

14-215 013-01
91-001 824-05
91-069 371-92

91-069 468-15
91-069 472-91

Fastening screw (A M 3x8 DIN 84-8.8)
for No.91-107 265-05

Fastening screw (A M 3.5x8 DIN 84-8.8)
for Nos.91-069 600-15; 91-069 601-15

Fastening screw (A M bx6 DIN 84-8.8)
for No.91-069 599-15

Binding screw (A M 4x8 DIN 84-8.8)
for Nos.91-169 089-90; 91-169 393-12

Binding screw (A M 4x10 DIN 84-8.8)
for Nos.91-069 472-91; 91-169 089-90

Binding screw (A M 5x8 DIN 84-8.8)
for No.91-069 630-91

Binding screw (A M 5x10 DIN 84-8.8)
for No.91-069 489-12

Binding screw (A M 5x15 DIN 84-8.8)
for No.91-169 473-92 and
set screw for No.91-169 47645

Fastening screw (A M 5x18 DIN 84-8.8)
for No.91-169 476-45

Fastening screw (M 4x10 DIN 912-8.8)
for No.91-169 39312

End screw (M 3xk DIN 920-5.8)
for No.91-069 472-91

Fastening screw (M 4x10 DIN 920-8.8)
for Nos.91-069 620-12; 91-069 630-91

End screw (M 4x8 DIN 921-5.8)
for No.91-069 498-11

Fastening screw (M 5x8 DIN 438-5.8)
for Nos.91-069 483-04; 91-069 484-04;
91-069 496-05

Fastening screw (A M 5x8 DIN 913-10.9)
for No.91-169 301-12

Stop screw (M 4x6xk DIN 927-5.8)
for No.91-069 503-05 (see No.91=169 474=05)

Nut (M 6 DIN 934-8)
for Nos.91-069 514-05; 91-169 475-15

Circlip (7x0.8 DIN 471)
for No.91-069 486-05

Slip washer (2.3 DIN 6799)
for No.91-001 82405

Slip washer (5 DIN 6799)
for Nos.91-069 496-05; 91-069 497-05

Slip washer (7 DIN 6799)
for No.91-169 474-05

Positioning pin (3 m 6x24 DIN 6325)
for No.91=169 47645

Needle bearing for No.91-069 468-15
Roller for No.91-069 493-11

0il guard, w/
0il pad No.91-069 517-05

Fulcrum stud for No.91-069 473-91

Arm shaft, w/ crank and
No.11-108 177-15 Binding screw
No.91-169 09945 0il cup

From the library of: Superior Sewing Machine & Supply LLC




Subcl. =431 Trimming Mechanism for Pfaff 461

91-069 473-91

91-069 483-04

91-069 48404

91-069 486~05

91-069 489-12

91-069 490-11

91-069 493-11
91-069 496-05
91-069 497-05
91-069 498-11

91-069 501-15
91-069 513-15
91-069 51405
91-069 517-05
91-069 518-45

91-069 571-92

91-069 598~11

91-069 599-15
91-069 600-15
91-069 601-15

91-069 620-12

91-069 628-91

91-069 630-91

91-069 632-05
91-069 63845
91-069 788-05

Knife driving eccentric connection, compl.,

consisting of:

No.14-215 013-01  Needle bearing

No. 14-215 306-011)Knife driving eccentric needle bearing

No.91-069 k44921 knife driving eccentric, w/
— set screw No.91-700 785-15

No.91-069 468-15  Fulcrum stud

No.91-069 475-15")Knife driving eccentric connection

No.91-069 476-05 Gasket for No.14-215 304-01

No.91-169 301-12 Set collar

1)Cannot be replaced.
For replacement purposes, order No.91-069 473-91

Fulcrum stud, right, for No.91-169 089-90
(Orders should specify number of dots;
152 3or 4)

Fulcrum stud, left, for No.91-169 089-90
(Orders should specify number of dots;
1 2; 30r k)

Hinge stud for No.91-069 790-05
(For replacement purposes, order No.91-069 628-91)

Guide stud, w/ binding screw No.11-108 225-15,
for No.91-069 789-15

Knife engaging and disengaging shaft
for Nos.91-069 489-12; 91-069 498-11

Interlocking latch for No.91-069 490-11
Fulcrum stud for Nos.91-069 493-11; 91-069 497-05
Torsion spring for No.91-069 493-11

Interlocking latch cam for Nos.91-069 490-11;
91-069 501-15

Connecting link for Nos.91-069 498-11; 91-169 473-92
Guide stud for No.91-169 252-45

Guide stud for No.91-169 252-45

0il pad for No.91-069 371-92

Arm cover

Needle bar, w/
needle set screw No.91-700 336-15

Knife holder, compl.,
consisting of Nos.11-108 135-15; 91-069 599-15;
91-069 600-15; 91-069 601-15

Knife holder, adjustable
Knife jaw, adjustable
Knife jaw

Ball joint connection, w/
set screw No.11-17% 176-15
(For replacement purposes, order No.91-069 628-91)

Ball joint connection, w/ connecting link, compl.,
consisting of Nos.11-108 096-15; 91-069 486-05;
91-069 620-12; 91-069 788-05; 91-069 789-15;
91-069 790-05; 91-107 265-05

Ball joint, w/ ball screw stud and

No.11-108 222-15 Binding screw

No.11-174 176~15 Set screw

0il wick, 2 mm dia., 65 mm long, for No.91-069 513-15
Slip washer for No.91-701 511-15

Ball stud for No.91-069 620-12
(For replacement purposes, order No.91-069 628-91)

From the library of: Superior Sewing Machine & Supply LLC




Subcl. -431 Trimming Mechanism for Pfaff 461

91-069 789-15

91-069 790-05

91-106 033-15
91-107 265-05

91-169 089-90

91-169 099-45
91-169 252-45

91-169 254-05

91-169 301-12

91-169 393-12

91-169 47392

91-169 47405

91-169 475-15
91-169 47645

91-169 477-91

91-170 650-11
91-700 335-35
91-700 336-15
91-700 48615
91-700 78515
91-701 346~15
91-701 391-15
91-70 511-15

Guide stud for No.91-069 489-12
(For replacement purposes, order No.91-069 628-91)

Connecting link for Nos.91-069 486-05;
91-069 788-05
(For replacement purposes, order No.91-069 628-91)

Washer for No.91-069 497-05
Guide fork for No.91-069 620-12

Connection, w/ needle bearing and
No.11-108 17415 Binding screw
No.11-108 177-15 Binding screw
No.91-069 483-04 Fulcrum stud, right
No.91-069 484—04 Fulcrum stud, left

0il cup for No.91-069 472-91

Knife holder bracket

(previous version, w/o thrust washer N0.91-170 650-11,
has been replaced by Nos.91-169 252-45; 91-169 254-05;
91-169 393-12; 91-170 650-11)

Pressure spring for No.91-170 650-11

Set collar, w/ set screw
No.11-330 220-15, for No.91-069 473-91

Guide stud bracket, w/ binding screw No.11-108 174-15
(previous version, w/o thrust washer No.91-170 650-11,
has been replaced by Nos.91-169 252-45; 91-169 254-05;
91-169 393-12; 91-170 650~11)

Shift lever, w/ binding screw No.11-108 231-15
(previous version No.91-169 359-92, w/o stop pin
No.91-169 475-15, not ill.)

Shift lever hinge stud
(previous version N0.91-069 503-05, w/
stop screw No.11-345 907-15, not ill.)

Stop pin for No.91-169 473-92

Knife driving shaft bracket

(previous version No.91-069 48145, w/o

stop pin No.91-169 475-15, not i11.)

Knife drive assembly, compl.,

consisting of Nos.11-178 172-15; 11314 220-15;
12-024 191-15; 12-610 200-45; 12-640 090-55;
12-640 170-55; 12-640 200-55; 91-001 824-05;
91-069 489-12; 91-069 490-11; 91-069 493-11;
91-069 496-05; 91-069 497-05; 91-069 498-11;
91-069 501-15; 91-069 628-91; 91-069 630-91;
91-069 638-45; 91-106 033-15; 91-169 089-90;
91169 252-45; 91-169 473-92; 91-169 474—05;
91-169 475-15; 91-169 476-45; 91-701 346~15;
91-701 391-15; 91-701 511-15

Thrust washer for No.91-169 252-45

Fastening screw for No.91-069 518-45

Needle set screw

Fastening screw for No.91-069 371-92

Fastening screw for knife driving eccentric
Driving screw for Nos.91-069 490-11; 91-069 498-11
Hinge screw for Nos.91-069 501-15; 91-169 473-92

Nut for No.91-069 630-91

From the library of: Superior Sewing Machine & Supply LLC




-431

91-054 408-03 91-055 192-25
91-169 395-04 91-069 595-04 91-069 596-03 o f
:4 ‘: :‘41 &

s 91-048 708-93

280
39-029 e 91048 709-04

91-048 703-04
Z7~91-000 730-35

91-000 730-35 |
91-048 701-05

91-047 46704

91-048 710-93

B 91-048 703-04
91-000 730~35

91-048 703-04
91-000 730-35

: 91-000 730_35
91-048 70105 B

91-047 46804 91-047 292-0h
S 91-048 715-93 °0§
////@?ﬁmﬁa 716-03
{ / ' 91-048 7030k
YD B 91-000 730-35

91-000 730-35 91-000 730-35

91-048 701-05 91048 77505

From the library of: Superior Sewing Machine & Supply LLC




Subcl. -431 Trimming Mechanism for Pfaff 461

S = Trimming Margin

91-000 730-35 Fastening screw for Nos.91-048 703-04;
91-048 709-04; 91-048 711-03; 91-048 714—0h;
91-048 716-03; 91-048 776~03

91-047 292-04 x S x Model
Feed dog for No.91-048 774-93

91-047 467-04 x S x Model
Feed dog for Nos.91-048 708-93; 91-048 710-93

91-047 468-04 x S x Model
Feed dog for Nos.91-048 713-93; 91-048 715-93

91-048 701-05 Needle plate for Nos.91-048 708-93; 91-048 710-93;
91-048 713-93; 91-048 715-93

91-048 703-04 x S Cover plate for Nos.91-048 708-93;
91-048 710-93; 91-048 713-93; 91-048 715-93;
91-048 77493

91-048 708-93 x S x Model
Needle plate, compl., (S = 2.5 - 3.5 mm, —431/01; -431/03)
consisting of Nos.91-000 730-35; 91-048 701-05;
91-048 703-04; 91-048 709-04

91-048 709-04 x S x Model
Needle plate insert for No.91-048 708-93

91-048 71093 x S x Model
Needle plate, compl., (S = 2.5 = 3.5 mm, —431/02; -431/07)
consisting of Nos. 912000 730~35; 91-048 701-05;
91-048 703-04; 91-048 711-03

91-048 711-03 x S x Model
Needle plate insert for No.91-048 710~93

91-048 713-93 x S Needle plate, compl.,
(S=4.0-7.0 mm, -431/04 -431/06)
consisting of Nos.91-000 730-35; 91-048 701-05;
91-048 703-0k; 91-048 7140k

91-048 71404 x S Needle plate insert for No.91-048 713-93

91-048 71593 x S Needle plate, compl.,

(8= 40-7.0am, -431/05, -431/08)
consisting of Nos.91-000 730-35; 91-0k8 701-05;
91-048 703-04; 91-048 716-03

91-048 716-03 x S Needle plate insert for No.91-048 715-93

91-048 77493 x S Needle plate compl.,

T (5= 8.0 - 12.0 mm, -k31/05; 431/08)
consisting of Nos.91-000 730-35; 91-048 703-04;
91-048 775-05; 91-048 776-03

91-048 775-05 Needle plate for No.91-0k8 774-93
91-048 776-03 x S Needle plate insert for No.91-048 774-93

91-054 408-03 x S x Model
Presser foot (-431/01; —431/03; -431/04; —431/06)
No.91-054 42603 x S x Model
Presser foot ( —431/02; -431/05;
-431/07; -431/08), not ill.

91-055 192-25 Finger guard (up to 5 mm S)
N0.91-055 189-25 Finger guard (over 5 mm S), not ill.

91-069 595~04 x Trimming width: 5, 7 and 9 mm,
Knife (S = 3.0 — 12.0 mm, 431/01; 431/02; <431/0k; —431/05)

91-069 596-03 x Trimming width: 5, 7 and 9 m
Knife (<431/03; -431/06 -431/07, -431/08)

91-169 395-0k x Trimming width: 5, 7 and 9 mm,
Knife (S = 2.5 mm, -431/07; -1.31/02)

99-029 728-05 Knife grinder

From the library of: Superior Sewing Machine & Supply LLC




-431

91-054 338-03 91-169 395-04

91-069 595-04 91-069 596-03

91-047 L6k-0k

P
@

91-048 700-93
y %91-048 70204

/4

L 91048 703-0k
"~ 91-000 730-35
91-000 730-35

91-048 701-05

91-047 293-0k & 91-048 778-93

. J 91-048 705-03
/4 o -8 1050
(3 o) 91—000 730-35 %
91-000 730-35 ‘?_"'/ 91-000 730-35. \#L
91-048 70105 91-0b8 775-05
-431
1-054 09004 91-054 27003 91-054 18004 91-054 310-03
91-069 669~0k ? ﬂ - o s 91-069 602-03
p / a~ ' (S
Q & & &
91047 534-03 91047 53403
P 91-048 951-93 91047 650k 91-048 952-93
91047 5—0@ 91048 9470k @ ’@/91—048 949-03
NG /’ (+.)
91047 466-04 91-047 466-04—27
91-048 950-05 91-048 95005

91-000 730-35
91-000 730-35

91-048 94605

5'\ > ~91-000 730-35

91-048 946~05

91-000 730-3

From the library of: Superior Sewing Machine & Supply LLC




\

Complementary Parts of Subcl. =431 Trimming Mechanism for the Pfaff 463
(For standard parts, please refer to the Subcl. =431 trimming mechanism for the Pfaff 461)

S = Trimming Margin

91-000 730-35 Fastening screw for Nos.91-048 702-04;
91-048 703-04; 91-048 705-03;
91-048 779-03

91-047 293-04 x S x Model
Feed dog (S = 10.0 - 12.0 mm)
for No.91-048 778-93

91-047 464-0% x S x Model
Feed dog (S = 2.5 - 8.0 mm)
for Nos.91-048 700-93; 91-048 704-93;
91-048 778-93

91-048 700-93 x S x Model
Needle plate, compl.,
(S = 2.5 - 7.0 nm, h31/01; -431/03)
consisting of Nos.91-000 730-35;
91-048 701-05; 91-048 702-04;
91-048 70304

Needle plate for Nos.91-048 700-93;
91-048 704-93

91-048 702-04 x S x Model
Needle plate insert for No.91-048 700-93

91-048 703-04 x S Cover plate for Nos.91-048 700-93;
91-048 704-93; 91-048 778-93

91-048 704-93 x S x Model
Needle plate, compl.,
(S = 2.5 - 7.0 am, —431/02; 431/04)
consisting of Nos.91-000 730~35;
91-048 701-05; 91-048 703-0k;
91-048 705-03

91-048 701-05

91-048 70503 x $ x Model
Needle plate insert for No.91-048 704-93

91-048 775-05 Needle plate for No.91-048 778-93

91-048 77893 x S x Model

Needle plate, compl.,

(S = 8.0 = 12,0 mm, -431/02; 431/04)
consisting of Nos.91-000 730-35;
91-048 703-04; 91-048 775-05;

91-048 779~03

91-048 779-03 x S x Model
Needle plate insert for No.91-048 778-93

91-054 338-03 x S x Model
Presser foot (=431/02; -431/04)
No.91-054 336-03 x S x Model
Presser foot
(-431/01; -431/03),
not ill.

91-069 595-0% x Trimming width: 5, 7, 9 mm,
Knife (S'= 3.0 - 12.0 mm,
-431/01; -431/02)

91-069 59603 x Trimming width: 5, 7, 9 mm
Knife (~<431/03; —431/0‘!)

91-169 395-0% x Trimming width: 5, 7,
Knife (S = 2.5 mm, —!.31/01 -451/02)

Complementary Parts of Subcl. =431 Trimming Mechanism for the Pfaff 469
(For standard parts, please refer to the Subcl. =431 trimming mechanism for the Pfaff 461)

S = Trimming Margin

91-000 730-35 Fastening screw for Nos.91-048 947-04;
91-048 949-03; 91-048 950-05

91-047 465-0k x S x Model
Feed dog, left

91-047 466-04 x S x Model
Feed dog, right

91-047 53403 x S x Model
Feed dog assembly, compl.,
for Nos.91-048 951-93; 91-048 952-93
consisting of Nos.91-047 465-0k;
91-047 46604

Needle plate for Nos.91-048 951-93;
91-048 952-93

91-048 947-04 x S x Model
Needle plate insert for No.91-048 951-93

91-048 949-03 x S x Model
Needle plate insert for No.91-048 952-93

91-048 950-05 Cover plate for Nos.91-048 951-93;
91-048 952-93

91-048 95193 x S x Model
Needle plate, compl., (S = 2.5 - 7.0 mm,
431/01; 431/03)
consisting of Nos.91-000 730-35;
91-048 946-05; 91-048 947-0k;
91-048 950-05

91-048 946-05

91-048 952-93 x S x Model
Needle plate, compl.,
-431/02; —431/0)
consisting of Nos.91-000 730-35;
91-048 946-05; 91-048 949-03;
91-048 950-05

($=2.5~-17.0 mm,

91-054 090-04 x S x Model
Presser foot (<431/01; —431/03)

91-054 180-04 x S x Model
Presser foot (<431/02; -431/04)

91-054 270-03 x S x Model
Gathering foot (-431/01; —431/03)

91-054 310-03 x S x Model
Gathering foot (<431/02; -431/04)

91-069 602-03 x Trimming width: 5, 7, 9 mm,
Knife (S'= 2.5 = 7.0 mn,
-431/02; -431/04)

91-069 669-04 x Trimming width: 5, 7, 9 mm
Knife (S = 2.5 - 7.0 mm,
~431/01; -431/02)

From the library of: Superior Sewing Machine & Supply LLC




10

From the library of: Superior Sewing Machine & Supply LLC




-431

Nummern-Verzeichnis / Tableau des numéros / Numerical Index / Lista de némeros

Nr./n%/No.  Fig. | Nr./n%/No.  Fig. | Nr./nOfNo.  Fig. | Wr./n0fo.  Fig. | Nr./nO/Ne.  Fig.
11-108 09615 3 91-047 468-04 7 91-054 270-03 9 91-069 599-15 4 91-700 785-15 5
11-108 135-15 3 91-047 53403 9 91-054 310-03 9 91-069 600-15 4 91-701 346-15 5
11-108 171=15 3 91-048 70093 9 91-054 336~03 9 91-069 601-15 4 91-701 391-15 5
11-108 17415 3 91-048 70105 7 91-054 338~03 9 91-069 602-03 9 91=701 51115 5
11108 177-15 3 91-048 70105 9 91-054 408-03 7 91-069 620-12 4 99-029 728-05 7
11-108 222-15 3 91-048 702-04 9 91-054 426-03 7 91-069 628-91 4
11-108 225-15 3 91-048 703-04 7 91-055 189-25 7 91-069 630-91 4
11108 23115 3 91-048 703-04 9 91-055 192-25 7 91-069 632-05 4
11-108 237-15 3 91-048 70493 9 91-069 371-92 3 91-069 638-45 4
11-130 176-15 3 91-048 705-03 9 91-069 468-15 3 91-069 669-04 9
11174 08615 3 91-048 708-93 7 91-069 472-91 3 91-069 78805 4
11174 176-15 3 91-048 709-04 7 91-069 473-91 4 91-069 789-15 5
11178 17215 3 91-048 71093 7 91-069 483-0k 4 91-069 790~05 5
11-314 220-15 3 91-048 711-03 7 91-069 48404 4 91-106 033-15 5
11-330 220-15 3 91-048 71393 7 91-069 486-05 4 91-107 26505 5
11-345 90715 3 91-048 71404 7 91-069 489-12 4 91169 089-90 5
12-024 19115 3 91-048 71593 7 91-069 490-11 4 91-169 09945 5
12-610 200-45 3 91-048 716-03 7 91-069 493-11 4 91-169 252-45 5
12-640 090-55 3 91-048 774~93 7 91-069 496-05 4 91-169 25405 5
12-640 170-55 3 91-048 775-05 7 91-069 497-05 4 91-169 301-12 5
12-640 200-55 3 91-048 775-05 9 91-069 498-11 4 91-169 393-12 5
13-033 208-05 3 91-048 776-03 7 91-069 501-15 4 91-169 395-04 7
14=215 013-01 3 91-048 778-93 9 91-069 513-15 4 91-169 395-04 9
91-000 730-35 7 91-048 779-03 9 91-069 514-05 4 91-169 47392 5
91-000 730-35 9 91-048 946-05 9 91-069 517-05 4 91-169 47405 5
91-001 82405 3 91-048 947-04 9 91-069 51845 4 91-169 47515 5
91-047 292-04 7 91-048 949-03 9 91-069 571-92 4 91-169 476-45 5
91-047 293-04 9 91-048 950-05 9 91-069 595-04 7 91-169 477-91 5
91-047 464-04 9 91-048 95193 9 91-069 595-04 9 91-170 650-11 5
91-047 465-04 9 91-048 95293 9 91-069 59603 7 91-700 335-35 5
91-047 466-04 9 91-054 090-04 9 91-069 596-03 9 91700 336~15 5
91047 467-04 7 91-054 180-04 9 91-069 598-11 4 91-700 486-15 S

From the library of:

Superior Sewing Machine & Supply LLC




(PFAFE)

From the library of: Superior Sewing Machine & Supply LLC






